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Continuity (2. S)

↳ Direct subs. Property .
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A- function f-Ca) is continuous at some a



in its domain rt

tim fld = f- Ca)
x- a

A- function is continuous if it is

continuous at each point in its domain

Not continuous : discontinuous
.
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If left and nrght limits disagree

then limit does not exist.
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Is gcx) continuous at x= O?
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Following functions are at: PILI!?, (on them

roots domains)
trig
exp
log



sin (x2t3) iad composition of continuous
functions is continuous.
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Is there a number x with

f- (D= x--z
Tz .52=2

f = GET-2--2-2=0
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f- (07=-2 He)=2
f- ( c) = - I

If f( 1) GO and ft) 20 there should

be a spot x between lard 2 where
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Intermediate Value Theorem

If f- (x) is continuous on [a, b]

and rt y is a number between fla) and fcb)

then there exists x in [a. b] where
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